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. Note : Attempt all questions.
fder s (i) %ﬁiﬁa%mﬁmﬁﬁﬁ%l
Use of calculator is not permitted.

e A 1 H T @IS § | WL (3) dgfased 9v qu wvs ()
o Tl =t gfd e 31 uow W & foe 1 siw etEfeq ®1

Question No. 1 is in two parts. Part (A) Multiple choice questions
and Part (B) Fill in the blanks. Each question carries 1 mark.

(iii) W HER 2 R 9 T AfESTE YW T TEE YW W 2 IF
afrsifed ¥ |
Question Nos. 2 to 9 are very short answer type questions. Each

- question carries 2 marks.
(fv) 9 HAEH 10 ¥ 15 7 AT WA | TAw WA W 3 3®
aEifed §1

Question Nos. 10 to 15 are very short answer type questions. Each

Instructions :

(@)

question carries 3 -marks. .
T I 16 @ 21 0 TIETT T F | W W | v foehed
| YAF WA W 4 30 afed T |
Question Nos. 16 to 21 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.

P.T.O.
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(v)) W9 IR 22 R 25 W wgeeda W € | wee v 3 i e
{1 W% Wt WS ahw e
Question Nos. 22 to 25 are short answer type questions. E;:(ach
question has an internal choice. Each question. carries 5 marks.

(vii) T T 26 UH 27 defswdg e € wdE WA A Hiafew fawen
T TF W W 6 oiw oy ¥

Question Nos. 26 and 27 are long answer type qu.cstions. Each
question has an internal choice. Each question carries 6 marks.

E';"*T @UE-( 31) wet faswey gt fafan .

Part-(A) Choose and write the correct option :

() 3 3R 9 = AR B

A37) 27 (H) 63
(|) 36 () 16
The third proportional of 3 and 9 will be -
(@) 27 | (b) 63
(c) 36 (d 16
(i) 2ot 4, 7, 10, 13, ... =1 1057 9€ BFW -
(37) 31 (&) 54
(9) 34 . (%) 35
10th term of series 4, 7, 10, 13, ...... will be :
(a) 31 (b) 54
(c) 34 (d) 35
(i) forgedl (=5, 7) &R (-1, 3) % <= = <& enft -
(31) 42 ‘) 245
(|) 43 T W2
The distance between the points (-5, 7) and (-1, 3) will be :
@ 4«2 . (b) 25
© 43 @ 32

206-C



[3]
(iv) sin(90°-0). cosec(90°-0) F A M :

(37) 1 (= 0
(W) 2 () -1
The value of sin(90°-0). cosec(90°-8) will be :
@ 1 (b) 0
(c) 2 @ -1
) T I T S 15 A, o o ) Fem 3 0 Y D AF

T T

_(3) 45n | (€) 48n
(®) 100n (%) 60n

The height of a cone is 15 cm and radius of base is 3 cm, then
the volume of cone will be :

(a) 45n (b) 43n
| (c) 100x B (d) 60n
qua-1  @ue~(«) e e w5 9| wiie
Part-(B) Fill in the blanks :
() 1350 A —— e B T

The value of 135° is radian.

(if) afe TRt wE e ¥ TE WO F AN 750 F, @ I6E T
I —— B
" If the measure of one angle of a cyclic quadrilateral is 75°, then

its opposite angle will be ____.
(iii) fwdl AABC ® DE|BC w0 AD=3 i, DB=8 1., EC=24 G,
2 @ AE & WA — T

In a AABC, DE||BC and AD=3 cm, DB=8 c¢m, EC=24 cm, then the
value of AE will be .

206-C | P.T.0.
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(iv) feonurd wensi 1010 @t 0111 1 e Lt g

The sum of two binary numbers 1010 and 0111 1s .

(v) Wemai x, 8, 10 3t 12 1 HEC HHA § @, ?ﬁxﬁf‘?ﬂ%a.
The arithmetic mean of numbers x, 8, 10 and 12 is 8, then the

value of x is .

(20),, % <ufiE yoreh @ femnd yorh § wReda P

Convert (20),, from decimal system to binary system.

it 2, 8, 14, 20, ...... H 1691 € Fd Hio |

Find the 16th term of the series 2, 8, 14, 20, ...... .

T yomeht #t et 010111 3R 111010 F1 TR F HifT L
Find the sum of binary numbers 010111 and 111010.

forgait (1, -2) iR (-3, -1) = faemd oA Y@ F e fag H FrH
I i '

Find the coordinate of mid-point of line joining the points (1, —2) and

(=3, -1).

aﬁm‘)aﬂﬂrmﬁuﬁ;@—zﬁw3%|

Construct a quadratic equation whose roots are -2 and 3.

ffmaﬁaiw_qﬁaﬁfmm

. 7 .
Convert -— radian into degree.

T e 1 HFAT Fa RIS formsn anur w1t Brew 4 9. du e
14 Fd, ¥ - |
Find the volume of a cylinder whose radius of base is 4 cm and height

is 14 cm.




[5]

UgA-9 zsﬁ.ﬁaﬁwzﬁaﬁ@wﬁ;wﬂﬂﬁmtﬁ.ﬁﬁaﬁmm%l
- vEE | W ¥ e R @ s

A ladder 25 m long reaches a window of building 20 m above the
ground. Determine the distance of foot of the ladder from the building.

=10 T S

[4x+1}_ x-1
x+1 x+1
(4x+l)_ x-1

x+1 x+1

w11 AR a:bh=2:3 A, A (a+2b) : (¢-3b) F I TW Hifee |

Simplify :

If g : b=2:3, then find the value of (a+2b) : (a—3b).

YUH-12 o WHIRL B RIS
x2+7x+i2=0
Solve the quadratic equation :
x2+7x+12=0
qvA-13  fRee A s 22 S § 7200 WhE @ A 5 w6 F g oed
T e A N A R 6% A &, @ 5 o ¥ uvEg 39 feRe

AR T B 7

Kishan opened a recurring deposit account in State Bank of India
of T 200 per month for 5 years. If the rate of interest is 6% p.a., then

how much amount will he receive after 5 years?
wA-14 fag wifaC &

sin’® cosb
+ i

=secH
cosO 1 .\\ :
Prove that
. 2
sin” 0 _|.,C_OSB =secO
cosB 1

— P.T.O.
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WER-15 Mmﬁmmmwmﬂzﬁmwﬁwmﬁmw
s W0 & Ron w dud W men s, af fW s

3283 wm .
The base of a right prism is equilateral triangle. Each side of its base
is 8 cm. Calculate the height of prism, if volume of the prism is

3283 cubic cm.

2
WA-16 AR x = @ secB 3K y = b tand B, W fog T F _—_f__l'

2 2
Z_—I_=],

If x = a secO and y = b tan0, then prove that prY

HUqr
OR
WWW:

cosd cosf
cosecO+1 cosecH-1

Solve the equation :

cos@ . cos0
cosecO+1 cosecO-1

W17 Ka;mwaqmﬁ@a 4), (K, -2) ¥R (-3, 16) wwe@ B2

For which value of X, the points (1 4), (K, 2) and (-3, 16) will be
collinear?

J—

OR

39 fag & fdui® wm Fifg s famgall (2, 1) ok (-3, —4)3%&@%
AT Y@ Al 2:3 & 9W H erafawiied s &

Find the coordinates of the point which divides internally the line joining
the points (2, 1) and (-3, —4) in the ratio 2:3.

206-C
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TWE-18 TR §R FifNg

T -19

2 2
cos67° tan 40°
2 o [+]
[sinZB"] [cutSU") +cos0
Evaluate :
. . .
c
2( ?56? } _l_(tanil{} +cos(°
s5in23° cot 50°

areEr
OR

g #ifsu fis
l+sech sin® @

sec®  1—cos@

Prove that

1+sec® sin® B
secB 1-cosB

f&dt AABC W DE|BC\ afg AD=x, AB=2x-2, AC=2x+1 T
EC=x—1 8, & x & 9° 1 ¢ |

In a AABC, DE||BC. If AD=x, AB=2x-2, AC=2x+1, and EC=x-1,
then find the value of x.

arerar

OR
af% T g9 S e 13 9 A @ F= A 5 R F Q@ W g S
g JId B | -

If the radius of a circle is 13 cm, then find the length of chord which

is 5 cm away from its centre.

206-C
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wva-20  Prefafem Groh ®) mirs ww e

uyi-21

1020 | 20-30 | 3040 | 40-50 [ 50-60

wl are 0-10
7 3

s 4 6 10

Find the median for the following table

2030 | 30-40 | 40-50 m

10 7

Class interval 0-10 10-20

Frequency 4 6

ear
OR

wwww@aﬁwﬁmﬁﬁa@wmmaﬁmﬁmm
Hifg |

Find the probability of getting a number greater than one by throwing

an ordinary dice.

Waﬁﬁﬁﬁﬁ“ﬁé%oﬂtﬁ.%aﬂtmzoﬁtﬁ.%ls@naﬁﬂzﬁ.
| =6 fohed Tilel SFTE ST W © 7

A solid cone has the height of 10 cm and diameter of 20 cm. How many

spheres of diameter 2 cm can be made by melting it?

aeqar
OR

Ifz T S 1 A 14 UL 9 =R 10 WL R, [ SO w1 A
a1 G T3 Jrd hifeIg |
If the diameter of a cylinder is 14 cm and its height is 10 cm, then find

the volume and curved surface of cylinder.

~206-C
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191

40-50 | 50-60 | 60-70
wl 0-10 | 10-20 | 20-30 __311_40 - -~ —
w8 | s | 20 [ 2P 1-

Find the mode of the following table :

——] _60 | 60-70
ivs T 010 ] 1020 | 2030 | 3040 | 40-50 | 50 —
Frequency 8 15 20 40 30 14 -

arerar
OR
Frefefan arRolt & ge=R 91 9| S
=1 0-10 | 10-20 | 20-30 | 30-40 | 40-50
ST 10 18 35 20 17

Find the arithmetic mean of the following table :

Class

0-10

10-20

20-30

30-40

40-50

Frequency

10

18

35

20

17

WoT-23  URYTIRG WY & fafae v fag wife

State and prove Pythagoras theorem.

3T

OR

afe PAB 99 &I BTH @1 &, S 99 A 4 U B W ek w7 AR
PT & o9l @rave #, o fag ®ifse i PA.PB = (PT).

If PAB is a secant to a circle which intersects the circle at 4 and B and

PT is a tangent segment, then prove that P4. PB = (PT)2..

206-C
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W-24" o, w3 g i s (ewr P

uE wmry ufysy fify F wfimms v2,500, gqy IiEd
: =7 faedtg
180 7 5,000 ST ot i S w1 s w0 b
oY ¥ 5 e oTaER &1 wm? engE oA w1 =
(a) IEH W [
() ¥ 1,10,000 TF - . A
(i) ¥ 1,710,001 ¥ ¥ 1,50,000 ¥F - 10%
(#if) ¥ 1,50,001 |/ ¥ 2,50,000 7H -~ 20%
(iv) ¥ 2,50,000 § FRW T - 30%
(b) Tan IuET - STFER W U W 3% H R ¥ 2F €
) is T 1,78,000.

The total annual income of Dr. Rajesh (excluding HRA
If he deposits T 2,500 per month in General Provident Fund, T 180 per
month in Group Insurance Scheme and ¥ 5,000 half yearly towards LIC

premium, calculate his income tax payable in that financial year. The

limit for calculating income tax :

(a) Rate of income tax :

() Upto T 1,10,000 _ Nl
() From ¥ 1,10,001 to ¥ 1,50,000 - 10%
(#) From ¥ 1,50,001 to ¥ 2,50,000 - 20%
(iv) Above T 2,50,000 - 30% ‘

(b) Education Cess — To be paid at the rate of 3% on the income tax.

W -
OR
Frer 3 o o gfea # ¢ 50,000 1 7 F Ay 8% @i =W @
R W HEY S @ G| 9 = sl g9t fR e ), @ o)
3afy #t wAia W feat af wrw gt ?
Nilesh deposited T 50,000 for 1 year at the rate of 8% p.a. in a fixed
deposit scheme in Bank of India. If interest is calculated half-yearly,

then how much amount he will receive on maturity?

206-C
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Wy-25  TOEUE Hif .

UF-26

Wy-27

x0’2+22)+1’(22+x2)+z(x2+y2)+2xyz

Factorise :

x(P+2) +y @2+ + 2 (2 +2) + 2xyz

Heqr

L]

OR

ﬁmm%ﬁmeﬁw%awﬁw%ﬂ?ﬁ%ﬂﬂwzﬁﬁ
TN =hifer |

If the 6th term of an A.P. is - and 4th term is , then find 24th term

of the series.

AABC %t = HIf sl BC = 5 ), £4 = 550 A A ¥ B I

gt YiNes 3.5 . A
Construct a triangle 4BC in which BC = 5 cm, ZA4 = 55° and altitude

- through 4 is 3.5 cm.

T
OR

| AABC%vﬁ?mqaﬁmaﬂﬁqaﬁABﬁ.s [, BC = 7 9}, qd

£ZB = 70°

‘Construct the circumcircle of a triangle ABC in which AB = 5.5 cm,

BC =7 cm and £B = 70°
TR & FHIT :

x+2 X 1

_,_—..—___l—

x x+2 2

Solve the equation :

P.T.O0.
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SrerET
OR
qfE 'a:b = c:d B, @ fag e f&
a?—c? _ac.:
p2—d? bd

If a:b = c:d, then prove that

a2 —Cz ac

p2_d* bd



